1. Write as a power with a positive exponent.
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a)5’-5% 57 = b)sz

C) (32 . 32)-2 — d) (2_;)-4._:
2. Evaluate.

a) (779" = b) 5% (577 =

Each answer should
be an integer or a
fraction.



3. Write as a power with a positive exponent.
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4. Click the expression that equals 1.

C Remember, X° = 1

a)x-x b) (a-a"") o L d)

5. Write this expression with positive exponents: B%—



6. Simplify. Write an expression with positive exponents where necessary.

a)3y-y’-y= b) (4 3x° % =
3 -3\2
c)%;= d) (7;3%=

7. Simplify. Write an expression with positive exponents where necessary.
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